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H$amYmZ 
TAXATION 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 60 

Time allowed : 3 hours Maximum Marks : 60 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >26 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 26 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo A§{H$V h¢ & 
(iii) àíZ g§»`m 1 go 9 VH$ Ho$ àíZ A{V bKw-CÎma Ho$ h¢ VWm àË`oH$ àíZ 1 A§H$ H$m h¡ &   
(iv) àíZ g§»`m 10 go 17 VH$ Ho$ àíZ g§{jßV CÎma Ho$ h¢ VWm àË`oH$ àíZ 2 A§H$ H$m h¡ & 

gm_mÝ` ê$n go Eogo EH$ àíZ H$m CÎma 50 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(v) àíZ g§»`m 18 go 22 VH$ Ho$ àíZ ^r g§{jßV CÎma Ho$ h¢ VWm àË`oH$ àíZ 3 A§H$ H$m h¡ & 

gm_mÝ` ê$n go Eogo EH$ àíZ H$m CÎma 70 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(vi) àíZ g§»`m 23 go 26 VH$ Ho$ àíZ XrK© CÎma Ho$ h¢ VWm àË`oH$ àíZ 5 A§H$ H$m h¡ & 

gm_mÝ` ê$n go Eogo EH$ àíZ H$m CÎma 150 eãXm| go A{YH$ H$m Zht hmoZm Mm{hE & 
(vii) CÎma g§{jßV VWm q~Xþdma hmoZm Mm{hE & 

General Instructions : 

(i) All questions are compulsory. 

(ii) Marks for questions are indicated against each question. 

(iii) Questions no. 1 to 9 are very short answer questions carrying 1 mark each.  

(iv) Questions no. 10 to 17 are short answer questions carrying 2 marks each. 

Answer to them should not normally exceed 50 words each. 

(v) Questions no. 18 to 22 are also short answer questions carrying 3 marks 

each. Answer to them should not normally exceed 70 words each. 

(vi) Questions no. 23 to 26 are long answer questions carrying 5 marks each. 

Answer to them should not normally exceed 150 words each. 

(vii) Answer should be brief and to the point. 

 

1. EŠg Zo < 40,000 AnZo ^mB©, Omo 50 à{VeV {dH$bm§J h¡ Am¡a Omo Cg na {Z^©a h¡, Ho$ 

{M{H$Ëgm CnMma na IM© {H$E & EŠg Ymam 80 DD Ho$ AÝVJ©V {H$VZr H$Q>m¡Vr bo gH$Vm  
h¡ ? 1 
X spent < 40,000 on medical treatment of his dependant brother, 

suffering from 50 percent disability. How much deduction can he claim 

under Section 80 DD ? 

2. Ymam 80 E Ho$ AÝVJ©V H$m¡Z H$Q>m¡Vr bo gH$Vm h¡ ? 1 

Who can claim deduction under Section 80 E ? 
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3. {H$gr EH$ H$mof H$m Zm_ ~VmBE Ohm± Ymam 80 G Ho$ AÝVJ©V A§eXmZ na 100% H$Q>m¡Vr Xr 

OmVr h¡ &  1 
Name any one fund where 100% deduction is eligible under Section 80 G.  

4. Ymam 87 A Ho$ AÝVJ©V {ZYm©aU df© 2017 – 18  Ho$ {bE Ny>Q> H$m {Z`_ Š`m h¡ ? 1 
For the assessment year 2017 – 18, what is the rule for rebate under 

Section 87 A ? 

5. < __________ go A{YH$ bm°Q>ar `m H«$m°gdS>© nµOb go OrV H$s am{e na òmoV na H$a H$s 

H$Q>m¡Vr H$s OmVr h¡ & 1 
Tax is to be deducted at source from winnings from lotteries or crossword 

puzzles if the amount of payment is more than < __________ . 

6. d¡Q> Ho$ _hÎd H$m CëboI H$s{OE & 1 
State the importance of VAT. 

7. EH$ n[apñW{V ~VmBE O~ H«$` na BÝnwQ> Q>¡Šg H«o${S>Q> Zht {_bVm h¡ & 1 
Mention one situation when no input tax credit is available on purchases. 

8. Ho$ÝÐr` {~H«$s H$a Ho$ AÝVJ©V ‘Kmo{fV dñVwAm|’ go Š`m VmËn`© h¡ ? 1 
What do you mean by ‘declared goods’ under Central Sales Tax ? 

9. ZH$mamË_H$ gyMr _| Xmo godmAmo§ Ho$ Zm_ ~VmBE {OZ na godm H$a Zht bJVm & 1 
Name two services in the negative list not chargeable to service tax. 

10. EŠg, EH$ {Zdmgr ì`{º$, Zo gaH$mar AñnVmb _| AnZo {M{H$Ëgm CnMma na < 30,000 

IM© {H$E Am¡a AnZo na {Z^©a ^mB© Ho$ {M{H$Ëgm CnMma na < 14,000 IM© {H$E & XmoZm| 

hr {Z{X©îQ> amoJ go nr{‹S>V h¡§ Omo {H$ {ZYm©[aV _§S>b Ûmam nm[aV h¡ &  
 JV df© 2016 – 17 _|, EŠg H$s doVZ go Am` < 4,00,000 h¡ &  

 {ZYm©aU df© 2017 – 18 Ho$ {bE EŠg H$s Am` H$s JUZm H$s{OE &  2 
X, a resident individual, spends < 30,000 on his medical treatment in a 

government hospital and < 14,000 on medical treatment of his dependant 

brother. Both are suffering from a specified disease as prescribed by  

the Board.  

Income of X from salary is < 4,00,000 for the previous year 2016 – 17.  

Compute X’s income for the assessment year 2017 – 18. 
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11. {ZYm©aU df© 2017 – 18 Ho$ {bE EH$ d[aîR> ZmJ[aH$ ({Zdmgr) {OgH$s Am`w 60 df© `m 

Cggo A{YH$ naÝVw 80 df© go H$_ h¡, H$s Am` H$a Ho$ ñb¡~ Xr{OE &  2 

State the tax rates applicable to an individual (resident) who is more 

than or equal to 60 years but less than 80 years, for the assessment  

year 2017 – 18. 

12. {ZYm©aU df© 2017 – 18 Ho$ {bE gwZrVm H$s H$a Xo`Vm H$s JUZm H$s{OE & CgH$s Am` H$m 

{ddaU {ZåZdV² h¡ : 

  < 

_H$mZ gån{Îm go Am`  3,20,000 

AÝ` òmoVm| go Am`   80,000 

~¢H$ Ho$ ~MV ImVo go Am`  5,000 

CgZo \w$b-Q>mB_ E_.~r.E. H$s n‹T>mB© Omar aIZo Ho$ {bE ~¢H$ go < 5,00,000 H$m G$U 
{b`m h¡ & JV df© 2016 – 17 _| CgZo ~¢H$ H$mo < 1,00,000 H$m G$U Am¡a < 40,000 
H$m ã`mO MwH$m`m h¡ & 2 

Compute the tax liability of Sunita for the assessment year 2017 – 18. 

The details of her income are as follows : 

  < 

Income from House Property 3,20,000 

Income from Other Sources  80,000 

Income from Savings Bank Account 5,000 

She has taken a loan of < 5,00,000 from a Bank to pursue a full-time 

MBA. She repays < 1,00,000 on account of loan and < 40,000 as interest 

on the loan for the previous year 2016 – 17. 

13. JV df© 2016 – 17 _| EŠg H$s Hw$b Am` < 12,30,000 h¡ Am¡a CgH$s H$a Xo`Vm  

< 1,99,820 h¡ &  òmoV na H$a H$Q>m¡Vr < 1,76,060 h¡ & Š`m dh A{J«_ H$a XoZo Ho$ {bE 

CÎmaXm`r h¡ ? AnZo CÎma Ho$ g_W©Z _| H$maU Xr{OE & 2 
Total Income of X for the previous year 2016 – 17 is < 12,30,000 and his 

tax liability is < 1,99,820. Tax deduction at source is < 1,76,060. Is he 

liable to pay advance tax ? Give reason in support of your answer.  

14. Ho$ÝÐr` {~H«$s H$a _| gr \$m°_© H$m Š`m _hÎd h¡ ? 2 
What is the importance of C Form in Central Sales Tax ? 
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15. godm H$a Š`m h¡ ? godm H$a H$s à_wI {deofVmAm| H$mo g§jon _| g_PmBE & 2 
What is Service Tax ? Explain briefly the salient features of service tax. 

16. godm H$a Ho$ gå~ÝY _| H$a-`mo½` joÌ Š`m h¡ ? `{X godm àXmVm A H$a-`mo½` joÌ _| h¡ naÝVw 

godm àmßVH$Vm© ~ µJ¡a-H$a-`mo½` joÌ _| h¡, Vmo Š`m Cg godm na godm H$a bJoJm ? 2 
What is taxable territory in relation to service tax ? If the service 

provider A is in taxable territory but the service recipient B is in  

non-taxable territory, will the service be liable to tax ? 

17. godm H$a Ho$ gå~ÝY _| {dnarV ewëH$ V§Ì `m Q>¡Šg ñWmZm§VaU go Š`m VmËn`© h¡ ? 2 
What do you mean by reverse charge mechanism or tax shift with 

reference to service tax ? 

18. lr_Vr EŠg A ~ g {b{_Q>oS> H$ånZr _§o H$m_ H$aVr h¡ & JV df© 2016 – 17 _| CÝh| 
{ZåZ{b{IV ^Îmo d AZwbm^ {_bo h¢ : 

  < 

_yb doVZ  5,00,000 

_h±JmB© ^Îmm   50,000 

_wµâV ^moOZ (100 {XZm| Ho$ {bE < 60 à{V{XZ H$s Xa na)  6,000 

 CgZo AnZo doVZ H$m 12% _mÝ`Vm àmßV ^{dî` {Z{Y _| A§eXmZ {H$`m h¡ & CgHo$ {Z`moº$m 
Zo ^r CVZr hr am{e CgH$s ^{dî` {Z{Y _| A§eXmZ H$s h¡ & Bg ^{dî` {Z{Y _| 11% H$s 

Xa go < 11,000 ã`mO CgHo$ ImVo _| O_m hþE h¢ &  

 {ZYm©aU df© 2017 – 18 Ho$ {bE lr_Vr EŠg H$s H$a Xo`Vm H$s JUZm H$s{OE & 3 
Mrs. X is employed with ABC Ltd. She received the following allowances 

and perquisites for the previous year 2016 – 17 : 

   < 

Basic Salary 5,00,000 

Dearness Allowance 50,000 

Free lunch (< 60 per day for 100 days) 6,000 

She contributed 12% of her salary to a recognised provident fund to 

which her employer contributes the same amount. Interest credited to 

her provident fund at 11% p.a. amounted to < 11,000.  

Compute Mrs. X’s tax liability for the assessment year 2017 – 18. 
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19. EŠg (66 df©) EH$ Ka g§n{Îm H$m ñdm_r h¡ Am¡a AnZo Ka _| ahVm h¡ & CgHo$ Ka Ho$ 

{ddaU {ZåZ àH$ma h¢ : 

  < 

ZJa {ZJ_ H$m _yë`m§H$Z  40,000 

{Zînj {H$am`m _yë`   50,000 

_mZH$ {H$am`m  45,000 

EŠg Ûmam ZJanm{bH$m H$a H$m ^wJVmZ  4,500 

~r_m àr{_`_  2,000 

_H$mZ H$mo ~ZmZo Ho$ {bE G$U na ã`mO  25,000 

 `h _mZVo hþE {H$ EŠg Zo OrdZ ~r_m {ZJ_ H$mo g§n{Îm {Z_m©U Ho$ {bE < 15,000 H$m G$U 
{dÎmr` df© _| MwH$Vm H$a {X`m, {ZYm©aU df© 2017 – 18 Ho$ {bE CgH$s H$a Xo`Vm H$s 
JUZm H$s{OE & 3 

 AÝ` òmoVm| go CgH$s Am` < 9,00,000 h¡ &  

X (66 years) owns a house property which he uses for his residential 

purposes. The details of the house are as under : 

     < 

Municipal Valuation  40,000 

Fair Rental Value  50,000 

Standard Rent  45,000 

Municipal Tax paid by X  4,500 

Insurance Premium  2,000 

Interest on loan borrowed for  

construction of the house  25,000 

Compute his tax liability for the assessment year 2017 – 18 assuming that 

he repays the loan to LIC for construction of the property worth < 15,000.  

His income from other sources is < 9,00,000. 
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20.  {ZYm©aU df© 2017 – 18 Ho$ {bE lr EŠg Zo {ZåZ{b{IV {ddaU noe {H$E h¢ :  

 

   < 

doVZ   1,10,000 

_H$mZ gån{Îm go Am`   62,000 

ì`dgm` H$m bm^  10,00,000 

AÝ` òmoVm| go Am`  19,000 

Ymam 80 C Ho$ AÝVJ©V H$Q>m¡Vr   50,000 

Ymam 80 D Ho$ AÝVJ©V H$Q>m¡Vr  20,000 

 `h _mZVo hþE {H$ CgH$s òmoV na H$a H$Q>m¡Vr < 1,57,139 Wr, CgH$s {dÎmr` df©  

2016 – 17 H$s A{J«_ H$a Xo`Vm H$s JUZm H$s{OE & 3 

 

The following particulars are submitted by Mr. X for the assessment  

year 2017 – 18 : 

  < 

Salaries 1,10,000 

Income from House Property 62,000 

Profits of Business 10,00,000 

Income from other sources 19,000 

He claimed deduction   

Under Section 80 C  50,000 

 Under Section 80 D 20,000 

Find out the advance tax payable by him during the financial year  

2016 – 17 assuming that his tax deduction at source was < 1,57,139. 
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21. {ZåZ{b{IV Am`m| Ho$ {bE òmoV na H$a H$Q>m¡Vr H$s Xa| ~VmBE : 

(H$) doVZ  

(I) à{V^y{V`m| go ã`mO 

(J) à{V^y{V`m| go ã`mO Ho$ A{V[aº$ ã`mO  

BZ àË`oH$ pñW{V`m| _| {H$VZr A{YH$V_ Am` H$a _wº$ h¡ ? 3 

State the rates of tax deduction at source in case of the following  

incomes : 

(a) Salary 

(b) Interest on securities 

(c) Interest other than interest on securities 

What is the maximum amount of income which is exempted from tax in 

each of these  cases ? 

22. `{X godm àXmVm Ûmam godm Ho$ {bE br JB© gH$b am{e _| godm H$a gpå_{bV h¡, Vmo Amn 
H$a-`mo½` godm H$m _yë` H¡$go kmV H$a|Jo ? CXmhaU H$s ghm`Vm go g_PmBE & 3 

If gross amount charged by the service provider is inclusive of service tax 

payable, how will you compute the value of taxable service ? Explain with 

the help of an example. 

23. {dÎmr` df© 2016 – 17 Ho$ {bE lr EŠg Ûmam {ZåZ{b{IV {ddaU noe {H$E JE h¢ & Ymam 
80 C, 80 CCC, 80 D Am¡a 80 DD Ho$ AÝVJ©V H$Q>m¡Vr H$s am{e kmV H$s{OE : 

(H$) ñd`§ H$s OrdZ ~r_m nm°{bgr na OrdZ ~r_m àr{_`_ 15 _mM©, 2017 H$mo  
{X`m J`m : < 40,000 

(I) gmd©O{ZH$ ^{dî` {Z{Y _| O_m : < 1,20,000 

(J) OrdZ ~r_m {ZJ_ Ho$ n|eZ \§$S> H$m ^wJVmZ : < 10,000 

(K>) AnZo na {Z^©a {nVm (69 df©) Ho$ ñdmñÏ` na ñdmñÏ` ~r_m àr{_`_ : < 25,000  

(L>) AnZo na {Z^©a ^mB© Ho$ BbmO na IM© : < 40,000 5 
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From the following particulars submitted by Mr. X for the financial year 

2016 – 17, find out the amount of deductions he can claim under Sections 

80 C, 80 CCC, 80 D and 80 DD :  

(a) Life insurance premium on own life policy paid on  

15th March, 2017 : < 40,000 

(b) Contribution towards public provident fund : < 1,20,000 

(c) Contribution towards LIC pension fund : < 10,000 

(d) Mediclaim insurance premium on the life of dependant father  

(69 years) : < 25,000 

(e) Medical treatment of dependant brother : < 40,000 

 

24. JV df© 2016 – 17 Ho$ {bE lr EŠg (81 df©) H$s Am` Am¡a ì`` Ho$ {ddaU {ZåZ{b{IV 
h¢ : 
  < 

ì`mdgm{`H$ Am` 11,00,000 

bm°Q>ar go Am`  1,00,000 

n[adma {Z`moOZ H$mo ~‹T>mdm XoZo Ho$ {bE gaH$ma H$mo XmZ 1,30,000 

gmd©O{ZH$ ^{dî` {Z{Y _| O_m am{e 1,00,000 

{ZYm©aU df© 2017 – 18 Ho$ {bE EŠg H$s {Zdb Am` Am¡a H$a Xo`Vm H$s JUZm H$s{OE & 5 

Following are the particulars of income and expenditure of Mr. X  

(81 years) for the previous year 2016 – 17 : 

  < 

Business Income 11,00,000 

Winnings from Lottery 1,00,000 

Donation to Government for   

promotion of family planning 1,30,000 

Contribution towards Public Provident Fund  1,00,000 

Compute X’s net income and tax liability for the assessment  

year 2017 – 18. 
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25. JV df© 2016 – 17 Ho$ {ZåZ{b{IV Am` Am¡a ì``m| Ho$ AmYma na {ZYm©aU  
df© 2017 – 18 Ho$ {bE EŠg H$s H$a Xo`Vm H$s JUZm H$s{OE : 

  < 

_H$mZ gån{Îm go Am` 6,70,000 

gaH$mar à{V^y{V`m| na ã`mO 30,000 

gmoZo Ho$ {dH«$` na AënH$mbrZ n±yOrJV bm^ 50,000 

gyMr~Õ eo`am| Ho$ {dH«$` na XrK©H$mbrZ ny±OrJV bm^ 1,00,000 

XmoñV go Cnhma  60,000 

AnZr OrdZ ~r_m nm°{bgr na OrdZ ~r_m àr{_`_   

(nm°{bgr aH$_ < 80,000)  20,000 

AnZo na {Z^©a {nVm (80 df©) Ho$ ñdmñÏ` na   

ñdmñÏ` ~r_m àr{_`_ 35,000 5 

Compute tax liability of X for the assessment year 2017 – 18 from  

the following details of income and expenditure for the previous year 

2016 – 17 : 

  <  

Income from house property 6,70,000 

Interest on Government securities  30,000 

Short term capital gains on sale of gold  50,000 

Long term capital gains on   

sale of listed shares 1,00,000 

Gift from a friend 60,000 

Life insurance premium paid on own life policy  

(sum assured < 80,000) 20,000  

Mediclaim insurance premium on life of his  

dependant father (80 years)  35,000 
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26. EŠg {Xëbr _| EH$ {dH«o$Vm h¡ & dh dñVwAm| H$, I, J, K Am¡a L> H$m AÝVam©Á`r` {dH«$` 
H$aVm h¡ &   

 Ho«$Vm ñWmZr` H$a `m d¡Q> Xa 
 H$ eyÝ` 

 I 1·5% 

 J 3% 

 K 4% 

 L> 6% 

Ho$ÝÐr` {~H«$s H$a H$s am{e (Xa) Š`m hmoJr, `{X  

(H$) Ho«$Vm n§OrH¥$V H«o$Vm h¢ Am¡a gr \$m°_© Omar H$aVo h¢  

(I) H«o$Vm n§OrH¥$V H«o$Vm Zht h¢   5 

X is a dealer in Delhi. He makes inter-state sale of goods to A, B, C, D 

and E. 

Buyer Local tax or VAT rate 

A Nil 

B 1·5% 

C 3% 

D 4% 

E 6%  

What will be the Central Sales Tax rate, if  

(a) Buyers are registered dealers and issue C Form  

(b) Buyers are not registered dealers   

200 


